43 97
g K>x<10 He
q 0 Nm?/
K 10 K 16
He
g 3
§57.5.31| S57.6.1 | S60.9.10 | H2.9.10 H10.7.1
(N 3/h)
S60.9.9 | H2.9.9 H10.6.30
4 5 |0.05
4 5 |0.10
20 4 |0.07 0.05
4 20 4 10.18 0.15
( 10 ? 1 1 4 4 10.25
1 0s |0.30
20 6 |0.15 0.10
4 20 6 |0.25 0.20
4 6 |0.35 0.30
Os
( 10 2
508 /h( Os 0.50 0.30
) 3
6 0.50 0.30
H10.6.30 H10.7.1
4 t/h 0.08 0.04
2
( 2 2 4 t/h 12 | 0.15 0.08
0.2 2 t/h 0.25 0-15
c ( on) ( 0s)><Cs
C @ m)
On %) On
0s ) 20% 20%
Cs (@ Nm)
H7.7.2 5,000kcal/kg H7.7.3
5,500kcal/kg 0.45
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cm®/Nm?
S48. S48. S50. S52. S52. S54. S60. H2.
8.9 [8.10 |12.10 |6.18 |9.10 |8.10 [9.10 |9.10
3
N/ S50. H52. H52. H54. S60. H2.
%) 129 |6.17 |9.9 |89 |99 |99
50 130 100 |60
10 50 130 100
10 5 [130 | 100
X 4 150 130
10m 150
) 50 180 150 | 130
50 , |19 | 180 [ 150
1 4 230 150
2 250 | 180
6 350
(
10 2
50 €
/h( 4 300 | 260
) 3
4 16 | 250 | 230
4 300 250
4 1 300 | 250
. 4 250
C ( on) ( 0s)>=Cs
C (cm  Nm)
On )
0s 20% 20%
Cs Nm )
52.9.10 0.5 N/m3/h
4
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45 138
0.1 1 1 0.1 0.5 0.1 0.005
PCB 12
0.003 0.3 0.1 0.2 0.02 0.04
1 2- -1 2- 11 1- 112- |13-
0.2 0.4 3 0.06 0.02 0.06 0.03
0.2 0.1 0.1 10 230 8 15 100
EPN
2 1
0.4
160 160 200
5.8 8.6 1 5.0 9.0 ( 120) | ( 120) | ( 150) 5
30 5 3 5 10 10 2
cm
120 16
15 3,000 60 8
1 50
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3 3
47 4 27
1
0.01 0.05 0.05 0.0005
2,000
m
0.01 0.05 0.05 0.0005
CoD( ) SS( )
! 1,300 1,000 — —
20 m 50 m ’ ’
1 780 600 — —
50 m
— — 90 70
$46.9.23
501 120 90 — —
S46.9.24
S47.9.30 80 60 — —
547.10.1 40 30 90 70
— 20 — 70
BOD( ) SS( )
! 80 60 70 50
1000 m
1
20 m 50 m 2,600 2,000 — —
1 2,600 2,000 — —
20 m 50 m
40 30 90 70
$46.9.23
501 120 90 — —
546.9.24
S47.9.30 80 60 — —
547.10.1 40 30 90 70
— 20 — 70
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BOD( SS(
80 60 70 50
1
20 m 50 m 2,600 2,000 — —
1 2,600 2,000 — —
20m 50 m
— — 70 50
40 30 90 70
501 40 30 90 70
— 20 — 70
43 98
46 11 29
B . 6:00 8:00 22 00 6:00
8:00 19:00 19:00 22:00
1 45 40 40
2 55 45 40
3 65 55 50
4 70 65 60
1
2
3
4
43 11 27
1
1 1 2
85 19:00 7:00 | 22:00 6:00 10 14
1 2
4
80m
3 4 1
120 80
110 2m 70
100 60
90 50
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51 64

53 3 29 784
8:00 19:00 19:00 8:00
60 55
65 60
1 2
50m 5
51 11 10 58
1
1 2 1 2
10 14 6
75 19:00 7:00 | 22:00 6:00
1 1 2
80m
2 2 1
90 4
80 3
70 2
60 1
55 0
46 91
49 7 1 2242
(ppm)
A (mBN) (mg/l)
1 1
0.002 2
0.02 1 2
0.01 2
0.009 2
0.005 1
0.05
0.05 1
0.009 1
0.02 1
0.009 1
0.003 1
0.9 1
3 1
1 1
10 1
0.4
1 1
0.03
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0.001
0.0009
0.001
6 A
2.5
1
3
2
4
5 3 31
A 10 A 30
B 14 B 34
c 18 C 38
log
6
0
1
2
2.5 2 3
3
35 3 4
4
5
11 105
ng-TEQ/m*N
. ! 0.1
1,000 0.5
1 0.5 1
1 0.5 1
1
0.5 1 4,000kg 01
1 50kg 1 2,000kg 1
4,000kg
1 2,000kg 5
1ng ) 10 1

-124 -




pg-TEQ/I

a|lbfwiN

(o)}

10

11

12

13

14

15

16

17

18

17

19

17

10

1pg

g Kx<10

K 10
He

17
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Nm3/
K 16

53 4-2-1




6
8 10
7
10 6
40 45 40
45 55 40
55 65 50
65 70 60
3 4 3
1 7.5
2 7.5
3 75
4 0.75 2.25
5 0.75 2.25
6 0.75
7 0.75 3.75
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